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Al A
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Fe=X 77,134,281 71,621,587 5,512,694
= 42,295,525
[ 2,3%,060
Il 884,842
< 8,347,602
= 23,210,252
Atel SR gt 1,889,417 1,832,719 56,698
= 258,940
s 591,023
== 139,171
o 900,283
FRIME XA A 129,668 132,368 A2,700
FOIMET A MHI A 21,668 24,368 A2,700
201 2= 12,908 15,608 A2,700
01 AtR2t2lt] 9,608 9,608 0
O=XIHHM HMIZ 5,000
OO0t & 222X SE|
8,000 x6& %6 4,608
02 S3=gHl 3,300 6,000 A2,700
O=odaXa g 72l 1,500
Oe1el28 AESE 150,000« 12& 1,800
202 04l 5,760 5,760
01 2LHoIH 5,760 5,760
OSY=X ML AREE
20,0003 x6H x12& 4 5,760
203 HR=4AY] 3,000 3,000
03 A=A PR FA| 3,000 3,000
SELINEESEES] 3,000
NAS =0 =qALEEE A2 108,000 108,000
301 EtE NS 108,000 108,000
02 ARSI 2E AT S(FIANS, XLETHE) 108,000 108,000
ORAS 0l 20ALBHZ
9,000 +1,000AlICH* 12 108,000
KIS AR =X 1,169,878 1,088,952 80,926
= 471,655
& 86,241
Ea 611,982
NETES MEIMHIA SXAIG (EX) (M2 (KISALE] 508,547 548,019 A39,472
AHIZ)
= 406,837
== 50,855
o 50,855
201 2= 700 703 A3

_183_




S FRI=XI D
Hu: Alsl =Xt
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= 560
T 70
= 70
01 AFR22t2lH| 700 703 A3
OXIE AR AHIA EXHAIS 22| 700
= 560
& 70
= 70
202 04t 300 400 A100
g 240
T 30
= 30
01 =2LHM Y| 300 400 A100
OXIGAIRIMEIA EXFAF =& (4| 300
s 240
& 30
= 30
308 AXISHMSOIN 507,547 546,916 N39,369
= 406,037
& 50,755
= 50,755
13 ST 2SO CHSZ A X EAISHI 507,547 546,916 39,369
OXIG AR MHIA EXFALS 507,547
rag 406,037
= 50,755
e 50,755
KERE28 AISIAHIA SEXAIE (EX) (ME) (XIS ALS 540 0 540
ANBIA- XMD}SDJDFXI"JM )
Fay 432
= 54
=2 54
540
308 AXIHMSOIH 540 0
iy 432
= 4
= 54
13 2| 2SHIUIsHE & X2 E ALY 540 0 540
OFHEDISAHLXI ALY 540
g 432
T 4
= 54
KEXEE ABIMHIA SEXAI (2X) (M) (DFAIRIE 80,482 0 80,482
SEXI AL
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< 8,048
s 8,048
308 XXM SOIA 80,482 0 80,482
= 64,386
== 8,048
[Ea 8,048
13 SV 12S0He 4 A AS A 80,482 0 80,482
OIS EXZ AL 80,482
= 64,386
=S 8,048
s 8,048
FEESHE =23 101,670 115,680 214,010
< 20,334
s 81,336
307 glztol & 101,670 115,680 214,010
= 20,334
= 81,336
03 PIHHEE 22X 101,670 0 101,670
OFoSHH 28 X3 101,670
= 20,334
o 81,336
=L SHE 2 (XHA) 19,385 0 19,385
307 @I2t01 & 19,385 19,385
03 M EE2SHIEX 14,385 14,385
O=xoUE==HH 2 14,385
11 AMEISXAEEE 5,000 0 5,000
O=2==HE At 5,000
NSAI2ZEE AN K& 56,480 54,490 1,990
201 er23| 2,800 3,500 AT700
01 AtR2t2|HI 2,800 3,500 AT700
Ozlo &4 =& 70,0002 102 *43] 2,800
301 Eet2 NS 5,500 5,500
11 #AIAHIXIE S 500 500
OXGAI2HE M 2& WS
50,0002 10 500
14 IIEt2 8= 5,000 5,000 0
SHANSASZE AN GOt L& 5,000
307 el2tol & 48,180 45,490 2,690
03 P HHEHE 22X 48,180 45,490 2,690
OAtR= A& 22| 38,270
OAR= 284 9,910
KNSASI 2SN W= 1,000 2,000 1,000
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02 2IZHBYAIHE X 1,000 2,000 1,000
OXISAMSISEHEOM &35 WS 1,000
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o 700
NSAS SRE M W= (XHA) 1,000 0 1,000
307 @I2t01 & 1,000 1,000
02 LB HAHEE 1,000 1,000
OXSAR 2EE N L3 = 1,000
FEWI At XI& 26,600 26,400 200
= 6,650
= 19,950
307 elztol & 26,600 26,400 200
= 6,650
Ea 19,950
10 AlISXAAZEHE 22X 26,600 26,400 200
OJI=ZEd3a M K& 26,600
=S 6,650
s 19,950
AMBIZXAIE SAEL HLH&H X 210,000 210,000
301 2eEN=S 210,000 210,000
4 JIEt2d= 210,000 210,000
OAMIISXIAISS XM IHAH|
50,0003 *350E = 1201 2 210,000
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os3((1g:) 1,000,000 x11H =122 132,000
Oul=dI(9g=) 310,0002 9 2,790
OnstH(mg=) 2,600 x11H 252 7,208
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SEAEIZEIAL 1 AH] X1 (At 22| AFE XIR) 69,456 103,334 A\33,878
[ 34,728
[Ea 34,728

&




SN ZFOI=X D
I-I;_(H: /\I.ngxlOltl
&2l At 22 A 2 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
101 eI t| 66,432 87,214 AN20,782
= 33,216
= 33,216
03 SR (RIHL) 22X 66,432 87,214 AN20,782
OSEAtdlZ2| AL 21 24| 66,432
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OSEAtelZelAt ATHEE D 2RE=a Y §
3 3,024
s 1,512
i 1,512
SEAteIZEIA 1248 KI& (Areil2el AL X1 ) (KEXl) 32,465 32,465
101 2124l 19,569 19,569
03 SRA(RINHS) 222 19,569 19,569
OSE A2 AF 14| (XHAI) 19,569
—AZtel =g 191,900&2H x 122 4,606
—&02(1€ 48 ,78)
1,139,000 »2H +33] 6,834
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= 4,900
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= 16,800
01 At2teltl 33,600 33,600
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= 12,600
[Ea 12,600
OE2M =28 Atz
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= 4,200
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= 13,200
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M Zol=x s
Hm: Lol =X =7
Bl coldEory (Che 2l
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
04 QUZHHAIAIR E X 40,500 45,000 24,500
OLole] & A} 40,500
SIE Hd32 XA 40,000 40,000
301 LPENZ 40,000 40,000
02 NBIEZASGS(HAAS, XLTHA) 40,000 40,000
Oztd s 40,000
SHLI=ESHMCISSAHNMEI AR 492,148 431,860 60,288
= 246,074
= 246,074
202 44| 2,400 2,400 0
ax 1,200
= 1,200
01 =WO4bI 2,400 2,400 0
O&&F0HI 2,400
= 1,200
= 1,200
307 212+01™ 489,748 429,460 60,288
= 244,874
= 244,874
11 AMSIESXAEEX 489,748 429,460 60,288
OSHLoSSotEeA MHIA K& 489,748
ax 244,874
= 244,874
=7 FHUYHE 24| XA 248,228 267,79 A19,571
201 LB-2AH| 4,868 5,251 A383
01 AtR2telt] 4,868 5,251 A383
ObIRH™ IIE 2F =2 4,868
301 LB F 243,360 262,548 A 19,188
02 ASIBEEHS(FHLHS, NSME) 243,360 262,548 A19,188
OFAAHE == N 243,360
L0l 0|01&Hl X3 At 881,280 876,433 4,847
201 Ler23H| 17,280 17,185 %
01 AtR2elt] 17,280 17,185 %b
ObIxH & 24 ==& 17,280
301 LPENZ 864,000 859,248 4,752
02 MBI EZASGS(HUAS, XLTHEA) 864,000 859,248 4,752
oolol=yl XA 864,000
LOIXESESAHUIAAY X2 1,122,864 1,364,052 A241,188
= 786,005
& 117,901
= 218,958
307 212+01 A 1,122,864 1,364,052 A241,188
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SA FUS
Hm: Lol =X =7
el ==XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 30,588 29,904 684
= 4,588
= 26,000
10 Al SXAAEEHE2EHI2x 30,588 29,904 684
CLosX2 gAEZ2H2E XA 30,588
= 4,588
o 26,000
oIS LoINEY 2SAYRAC/A XIH 31,861 31,117 744
< 9,558
[Ea 22,303
307 elztol & 31,861 31,117 744
& 9,558
= 22,303
10 Al SXAIEEHE2EHI 22X 31,861 31,117 744
OoIs2 LOEE 2SHY22AL X
o 31,861
= 9,558
[Ea 22,303
COIST2 LOIEE 2SHY2elA X (XHA) 11,157 8,304 2,853
307 @I2t01 & 11,157 8,304 2,853
10 Al2ISTIAEEE2HIEX 11,157 8,304 2,853
OLQISEE 2SH LA XA 11,157
ots=Aed 8,602,357 8,384,289 218,068
= 2,948,857
= 706,892
Il 75,480
= 2,120,266
o 2,750,862
SANHA S& 4,986,113 4,926,405 59,708
= 2,259,663
= 15,000
=S 1,398,497
s 1,312,953
EFuHA 28| X 1,476,448 1,641,240 A164,792
= 738,224
= 369,112
o 369,112
307 gl2to| & 1,476,448 1,641,240 A164,792
= 738,224
= 369,112
= 369,112
10 Al SXAAEEHE2EHI2x 1,476,448 1,641,240 A164,792
OEsuAA IAH| X3 1,476,448
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A FRISXID
M Ol==AIEs
&Rl ESAHIA SE (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 738,224
T 369,112
= 369,112
HRXEAIE WHER 1Al =It K& 58,030 0 58,030
= 17,409
= 40,621
307 2I2+01A 58,030 0 58,030
& 17,409
= 40,621
10 Al =S XA EEER2IHIE X 58,030 0 58,030
OFRXEAE W&AA 21AH| It XA 58,030
& 17,409
= 40,621
WA ol2Ad] Rl K& 10,881 10,720 161
307 2I2+01™ 10,881 10,720 161
10 AIEISXAIEHE2GHIEX 10,881 10,720 161
OE=u XA oAl XA X
906,670 x1Z = 12& 10,881
EFNAIAMRIHSE N (BEHE WA XIH) 262,956 224,000 38,956
= 131,478
= 65,739
= 65,739
307 2I2+01A 262,956 224,000 38,956
= 131,478
T 65,739
= 65,739
10 Al = XA EHE2FHIE X 262,956 224,000 38,956
OBZX Y HAEUWA XA 262,956
= 131,478
& 65,739
o 65,739
BEUNNIA HRIME X (DAI2REZ00A]) 90,000 95,160 Ab,160
= 45,000
& 22,500
[ 22,500
301 LB F 90,000 95,160 25,160
= 45,000
& 22,500
= 22,500
01 AISIBE XS (2 RETME) 90,000 95,160 A5, 160
OQuUANZRSHZ &I 90,000
= 45,000
= 22,500
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| = 1,260
01201 OAIBt 24l X1 8,400 8,400 0
== 2,520
[Ea 5,880
307 212+01& 8,400 8,400 0
< 2,520
s 5,880
10 Al2IS XA EEE 22X 8,400 8,400 0
OO0 el0lE OMIEH 2gH| X2
100,000 « 123 77 2 8,400
= 2,520
Ea 5,880
orolE Oelold dteyl XI& 5,700 7,550 A1,850
== 1,140
o 4,560
307 212+01& 5,700 7,550 1,850
< 1,140
= 4,560
10 Al SXAEEHE2EHI 22X 5,700 7,550 1,850
O&JIIS Oel0ld ditedl X3 5,700
= 1,140
= 4,560
0201y S2tAaldl X3 33,360 18,888 14,472
=S 15,959
s 17,401
307 21201 & 33,360 18,888 14,472
== 15,959
[Ea 17,401
10 Al2ISTIAIEEE2HIEX 33,360 18,888 14,472
OO0l S2HAHl X1 (0~2A1) 7,200
& 2,160
= 5,040
OO>I0IE S2+AHl X1 (3-5Al) 26,160
= 13,799
Ea 12,361
0lgl0lE 22Z4| A& 180,504 117,120 63,384
< 54,151
[Ea 126,353
307 212+01& 180,504 17,120 63,384
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11 AMEISXAEEES 180,504 0 180,504
OO0ElolIE 2l X (35AH) 180,504
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